(4’92'— 0&2 - 24b+ b? 3
- (a lp)(ff*b)j

2
-1
- _ g

< Sl |
What are all values of x that satisty the equation

above?
~ ( >+
7
B -3 (=R 2 3

B 8 Sl
©) 1 =y
D) -3 and -1 xT L5

The line in the xy-plane above represents the £ -2° |

relationship between the height f(x), in feet, and the / - 3)

base diametér-w, in feet, for cylindrical Doric
columns in ancient Greek architecture. How much
@ 1s the height of a Doric column that has a

base diameter of 5 feet than the height of a Doric
column that has a base diameter of 2 feet?

A) 7 feet 35’”1: 2\ b4
B) 14 feet
-y ; EEEEEN NN
(CP 2 feet T AT
D) 24 feet y = f{x) ======

mEsdEEEEEEEE

The graph of y = f(x) is shown in the xy-plane.

What is the value of@? @
A) 0
s
9x° B) 2 a ! w

If x > 0, which of the following is equivalent to the _ C) 3
given expression? 4
Ay 3x D v, WEH
2
B) 3x 3 o
C) 18x
D) 18x"
k-
, A
a _ C
X - 7/
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] | [
VEEEL Y

S X
: ENFREL YEED
L NC L
In the figure above, point B lies on AD. What is the <o; -4) ...n ...-.
value of 3x ¢ 3 X =3 (/?) ....g%...
AT 18 S LTI
= 2 ( 26 -2 )
B) 36
Which of the following is an equation of line # in the
@ ™ go —6 5 xy-plane above? _, o _ -4y,
D) 72 . ( ~Y4)
= 21 M ox-y=-4"No ,y=47x
5 B) x—y=4 (C))’L‘\B
@x+y: -4 & kit e P
D) x+y=4 \O“’('bo T e
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The graph of y = 2x% + 10x 1@3 shown [t the

graph crosses the y-axis at the point (0 k) what is the
value of & ¢

A circle in the xy-plane has center (5,7) and radius 2.
Which of the tollowing is an equation of the circle?

(A) (xm 5)%+ (y=7)" = 4 22
B (x+5)°+ U+7f: B
C) (x=5)+ (y=7)? = \
P (x+5)°+(y+7) =
C:VCO\) o L
P I S e
Y g ), “Proe
()f—h)‘l_,([f-—:) - 4 ‘14_\,)2,_5\5_'
2I8)
ij; =3 (&%
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In the figure above, triangle ABC is similar to

triangle DEF. What is the value 0

A) —

12

5

@

12
13

C)

D)

3
12
2
13

E
Soh
B
ot
: a 14 13LL
L g
AT C D F

O
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-
In the xy-plane, the graph of the function -3x+ =6
f(x) = x° + 5x + 4 has two x-intercepts. What is the —;x " 2_;: 4
distance between the xc-intercepts? In the system of equations above, @ is a constant. For
A) 1 Sum= —5 =L P | which of the following values of @ does the system
L have no solution?
By 2 Yrod = § % \
@ | =TT
D) 4 — | B) -3
-y %
s . N a = 2=
? D) 6
) B

m3) X [ anetnc

What are all values of x that satisty the given Ax + e\ -F
equation? % = _12
' O -
M) bt %
» 9.3 { ¥z
1. 9 duxg . d ® c
§ b =
A Ionly 30 o -;/"6’/ s

D) Neither I nor II

X J g = d
j = ‘ \{ - —-Z
N——e ——
2
>C =
. X
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UZoos = 5C +12( 3602)
T=5c+12f

A manufacturer shipped units of a certain product to
two locations. The equation above shows the total
shipping cost T, in dollars, for shipping ¢ units to the
closer location and shipping f units to the farther
location. If the total shipping cost was $£7'£0_0 and

- 3000 units were shipped to the farther location, how

elkab

Juan purchased an antique that had a value of $200
at the time of purchase. Each year, the value of the
antique is estimated to increase 10% over its value
the previous year. The estimated value of the antique,
in dollarfter purchase can be represented
by the expression| 2004, where a is a constant. W hat
isthe valueof a ¢

many units were shipped t%e closer location?

% /‘/Ux i

?d/adu A} 1.1 QUU
A) 2000 U3 coo = o+ B} 1.2 Y T VA

CB) 22000 W - () 1.21 \ I x [/ I )
C) 2600 i D) 1.22 . 1]o + 1
D) 3000 Zj”"\ L2 LY
2x + 3y = 1200
|2x+1]| =5 ' 3x + 2y = 1300

If @ and b are the solutions to the equation above,
what is the value of |a— b| ¢

Based on the system of equations above, what is the
value of 5x+ 5y ¢

- /S\ﬁ A} 200 5 + e
- 2 A== 5
A) -3 Lo xl= /< g
Tt = :

~ C) 1500
C) 2 FX,——’&)/ /3(: 3 ) @

/ 2 +3/F g
5 Ifand u— t = 2, what is the value of

(u— )W =t%) ?

' >/ =S k. ——
= 3 =z=5 e ((/1-"&) (1’{"{)(‘{*2’:)
/ | 2 T8¥ 5
B) 10
)),145
B < ATS = Qj;
& D} 25
/7()75

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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A helicopter{initial hovering@eet above the A text messaging plan charges a tlat fee of $5 per
eround, begins to gain altitude at a rate of 21 feet per month for up to 100 text messages sent plus(30.25)or
second. Which of the following functions represents each additional text message sent that month. Which
the helicopter’s altitude above the ground y, in feet, of the following graphs represents the cost, v, of
t seconds after the helicopter begins to gain altitude? sending x texts in a month?¢
4 y=40+21 A) ¥
B) y=40%21¢
C) y=40-21t 5
) y=40t+2l x
Ry O 100
B) ¥
e - g
(_\_5,/ —
e w § SAI—‘l
51 off ot . -
Aver 23~ 2 Fastine 100
ynte ak x =g
Y B » | C)
5<L
§ X
O 100
D) ¥
er\
- X
O 100
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Jake buys a bag of popcorn at a movie theater. He TE20= xcl??what is the value 0
eats half of the popcorn during the 15 minutes of =
previews. After eating half of the popcorn, he stops M5 20 )5 = X

eating for the next 30 minutes. Then he gra
eats the popcorn until he accidentall @

remaining popcorn. Which of the following graphs
could represent the situation? D) 35 30 /3

A)

oradually B) 10 {5 x>

Amount of popcorn
in the bag

0 30 60 90

Time {minutes) ) o ]
ORE=

For the function f defined above, what is the value of

A

B)

Amount of popcorn
in the bag
=

AYg=2
-1
0 30 o0 90
: : C 1
Time {minutes)
D) 2

2
Amount of popcorn
in the bag

0 30 o0 90
Time {minutes)

D)

0 30 o0 90
Time {minutes)

Amount of popcorn
in the bag
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Which of the following is equivalent to 2x{x” — 3x) ?

Rl 3
A) —4x " 13_‘5 =,
B) 3™ =g
O} 25— 3%

2;x:3 — 6x2

¥
.0
!

A retail company has 50 large stores located in
different areas throughout a state. A researcher for
the company believes that employee job satistaction
varies greatly from store to store. Which of the
following sampling methods is most appropriate to
estimate the proportion of all employees of the
company who are satistied with their job?

L)

(). Surveying the 25 highest-paid employees and the
25 lowest-paid employees

Selecting one of the 50 stores at random and
then surveying each employee at that store

Selecting 10 employees from each store at
random and then surveying each employee
selected

D) Creating a website on which employees can
express their opinions and then using the first

o0 responses
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MATH=~/KNOWLEDGE o4

elka@om

&=
L
.2
(Pal
-
£
L
i i
E
g - lee
g =T 3 .84400
~rO ©
L
g
= 00
U

AL ]|
BEAEEEN
YWh. 'EAEE
SEEEEEE

0lln2 3 495085 7 = S

5 l*
_ Number 0@

The two graphs above show the total amounts of
money that [an and Jeremy each have deposited into

their savings accounts for the first seven weeks after
opening their accounts. After they made their initial

deposits, how much@ did Ian deposit each week
than Jeremy?

A) $200

hix) = o
The function % is defined above. What is

h3) - hi3)® F B
=
Ay 2 2
B) 4 A "5:(2(7\
D) 28

343
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23-4Y = /9

2344 = 2 ¢
A researcher surveyed a random sample of students A book was on sale for 40% off its original price. If
from a large university about how often they see the sale price of the book was $18.00, what was the
movies. Using the sample data, the researcher original price of the book? { Assume there is no sales
estimated tha @- f the students in the population tax.)

6-60,7 =/¥

saw a movie at least once per month. The margin of
e

error for this estimation i1s 4%. Which of the : A) §7.20
following is the most appropriate conclusion about B) $10.80
all students at the university, based on the given @ $30.00 N = %o
estimate and margin of error? 5
D) $45.00

) It is unlikely that less than 23% of the students
see a movie at least once per month.

& t least 23%, but no more than 25%, of the

tudents see a movie at least once per month.

ﬂi The researcher is between 19% and 27% sure

that most students see a movie at least once per
month.

[t is plausible that the percentage of students

who see a movie at least once per month is
between 19% and 27%.

IListA | 2 «~

5 X 6 35
y-4 4'5 .

List B 2 |+ 3

3 ¥ 4+
+ 3 + 4
The table above shows two lists of numbers. Which

of the following is a true statement comparing list A
and list B ¢

A) The means are the same, and the standard

deviations are different. M- /70 s e, t e
B) The means are the same, and the standard '

deviations are the same. Molian- ﬂ:/é/ le
R) The means are different, and the standard

deviations are different. /6,?( - o |
) The means are different, and the standard

deviations are the same. —
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